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1. Define “producer’s risk” and “consumer’s risk.”

2. What is “six sigma”?
3. What are the inputs to master scheduling?

4. HEEIMBR RN B R ?
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1. Obtain the linear trend equation for the following data on new savings accounts at First National
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(1) Use the linear trend line you obtained to predict new savings accounts for periods 7 through 8.

(2) Use the linear trend line you obtained to compute the forecast savings account for periods 1

through 6. Compute a'tracking signal for months 4 through 6. Compute an initial value of

MAD for month 4, and then update it for each month using exponential smoothing with ¢ =

0.1. What can you conclude? Assume limits of £ 4.

Period New Accounts
1 0.45
2 0.92
3 1.48
4 2.15
5 245
6 3.10
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1 - 1-3-5
2 1 3-4-5
3 1 4-6-8
4 2 5-7-9
5 2 4-5-6
6 3 3-6-9
7 4,5 2-5-8
8 6 5-8-11
9 7.8 1-2-3




